Further Maths Transition Work — Radian Measure

9 Radian measure

EXERCISE 9A
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EXERCISE 98
1 (a) 27cm; (b) 50cm; (c) 2.1cm; (d) 7.7cm,
2 (a) 122cm; (b) 116cm; (c) 559cm; (d) 37.9cm
(to 3 sf).
3 (a) 2.1rads; (b) 2.5 rads; (c) 0.625rads; (d) 2{rads;
(e) 1rad; (f) 0.5rads; (g) 2irads;  (h) l.érads.
4 (a) Som; (b) 3.2¢cm; (c) 1.6cm

(d) %s 34.4cmto 3 sf);

(f) 32cm.
7 (a) 16.8cm; (b) 7.7 cm; (c) 164cm; (d) 29.9cm.
EXERCISE 9C
1 (a) l6am’; (b) 27 cm?; (¢) 0.844cm? (d) 0.524 cm’.
2 (a) 4cm; (b) 10cm; (c) 6cm; (d) 437cm
(1o 3 sf).
3 (a) 313am’; (b) 110cm?; (c) 150cm*; (d) 60.5cm’
4 (a) 403 cm; (b) 31.7cm; (c) 544cm; (d) 704cm
(to 3 sf).

5 (a) 15.7cm? (b) 105em%;  (¢) 20em%  (d) 209cm’,
7 55.5cm’.

MIXED EXERCIGE

1 15cm.

2 (a) %rads; (b) 49.9cm.

3 (a) 375cm% {b) 1880 cm?’

4 (b) 99 meires.

5 5.7cm.

6 (a) %.- (b) 2mem.

7 (a) 4.5cm; (b) 6.75cm?.

8 (a) (1) PM=3cm, OM=33cm,

(li) 2wcm,
(iii) 6wcm®; (b) m=3,
9 (a) r@ (b) 3 sin 8.
10 (a) 508cm?.

(e) 4—:_'(- 14.3 cm to 3 sf);




